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Directions


Turn all of the washers silver-side UP


Close the lid and shake the box five times


Open the box and separate the silver washers from the gold washers


Count the number of Silver washers  in the box and record that number in Column A


Remove the Gold washers from the box and place them in the bag.


Record the number of Gold washers in the bag in Column B. (This can be found by taking 50 minus the number of silver washers currently in the box.)


Repeat Steps 2-8 until there are no more silver washers left.


Plot the points in column A and draw a curve connecting the points using the RED pencil.


Plot the points in column B and draw a curve connecting the points using the BLUE pencil.


Question 1 – Label one curve "Parent" and the other "Daughter".


Question 2 – Why can’t geologists measure the age of a rock if it has experienced more than 10 half lives?








